A A RERERER (GHTFE 68 4H~ 6A6H HE)

N = RS = (u Sv/h) N EET
NO | #HXBFS FEEA Tor oo o KIxhp & Py

1 A—4 BARIEAO 0.26 0.25 0.24 £

2| B—3 [MIAMKIEE 0.15 0.15 0.15 ED) O
3] B—4 |[E/REfHE 0.29 0.19 0.17 ED)

4 B—5 |HHBLAERLE 0.11 0.12 0.11 £ O
5 B—5 |AthdhAREE 0.13 0.11 0.09 Bh O
6] B—5 |RIR(ER) A 0.10 0.09 0.09 ED) O
7 B—5 [X(HEp){HE 0.13 0.10 0.10 £1) O
8] B—5 [FEZXE#I 0.11 0.11 0.10 =) O
9] B—6 |THHALARSE 0.09 0.09 0.08 Bh O
100 B—6 [TFHJIHHE 0.10 0.10 0.09 BEih

11 B—6 [#EERSEDO (FEO) A 0.08 0.07 0.07 BEih O
12l B—6 [dREfHE 0.10 0.09 0.08 ED) O
13] B—6 [HLEifiR 0.12 0.11 0.10 BEh

14 B—6 |FHABHE 0.20 0.17 0.14 BEh O
15 B—6 |E/RAREER] 0.15 0.14 0.13 D) O
16 B—6 | XKREfEFT 0.13 0.10 0.10 = O
17/ B—7 |/NEAEFHIERE(EXRAENE ) 0.11 0.10 0.09 ED) O
18] C—3 [FAKFMXAO 0.15 0.15 0.15 =) O
19] C—3 |$/Ar=&Hith AOfHix 0.23 0.20 0.18 D) O
20 C—4 ZB NN 0.15 0.14 0.14 =) O
21 C—4 |FHEX(BFHMEE R 0.12 0.10 0.09 £l @)
22| C—4 [|PX#EfHE 0.25 0.17 0.14 £1)

23] C—4 [PARFTU—2EHIU(RE) (1) 0.12 0.12 0.11 =) O
24| C—5 [RBEEAEfE 0.11 0.10 0.09 BEh O
25 C—5 P LI 2 3h 45 3 0.13 0.12 0.12 BEh [@)
26 C—5 | X&£IF 0.13 0.13 0.12 BEh [@)
27l C—5 |TFEEHNA 0.23 0.17 0.13 BEh O
28] C—6_ [5OFEAE 0.12 0.10 0.10 BEih O
29] Cc—6 |EIHALNEREER 0.10 0.10 0.10 BEh O
300 C—6 [HBIIIZXHE#HADO 0.16 0.16 0.16 Bh O
31 C—6 [HBluTZEMihERKithi+HEEim 0.40 0.22 0.19 BEh O
32l Cc—6 [LATULAER 0.10 0.10 0.10 Bh O
33] C—6 [#MEHIG{HE 0.11 0.11 0.10 BEh O
34| Cc—6 |[FEIIEEEEIFEBBZTH 0.09 0.09 0.09 BEh O
35| C—6 |IUTREEIUE 2—(EAH) 0.10 0.10 0.10 ED) O
36| C—6 |[IUTESZERKAREL 0.18 0.16 0.13 BEh @)
37] C—7 [N\ AVED 0.10 0.10 0.08 ED) O
38] C—7 | XKEREE) 0.10 0.10 0.10 ED) O
39] c—7 |/MNHERZLERK 0.14 0.10 0.10 ED) O
40 C—7 |EBFEEERIEM{A 0.11 0.13 0.10 =) O
41 C—7 |[EE¥EAEMfE 0.13 0.13 0.12 £1) O
42| Cc—7 malEEE DR 0.12 0.12 0.11 £1) O
43| C—7 |EchEih(EiEF15) 0.15 0.15 0.14 =) O
44| C—7 | KFHBHITEFRFA 0.15 0.15 0.12 BEh O
45| C—8 |BER(HFE) 0.15 0.15 0.15 BEh O
46 D—2 |IBYY)—rrykCcCAO 0.15 0.16 0.17 £1)

47 D—3 [PAXFEWE 0.16 0.13 0.12 £1) O
48] D—3 |HEAEREfEFHA 0.13 0.13 0.14 =) O
49| D—4 |[EBGERDfhE 0.12 0.10 0.10 =) O
50 D—4 |[EAB/AMKA 0.16 0.15 0.15 =)

51 D—4 |EBPXKLESE 0.12 0.11 0.11 =) O
52 D—5 |@HHEElEfHE 0.17 0.13 0.11 BEh [@)
53] D-—5 [REE/MVER (BIEIZHEI) 0.11 0.10 0.09 Bh O
54| D—5 |BENREEH] 0.14 0.12 0.11 BEh O
55| D—5 |[IBEMANAEREEH] 0.14 0.12 0.12 BEn O
56 D—5 |BE/BAOfHA 0.13 0.12 0.12 Bh O
57 D—6 [{rOEREVINISUE 0.11 0.11 0.11 ED) O
58/ D—6 |[BFH—TU2E 0.09 0.09 0.09 ED) O
59 D—6 |EirOE#A 0.16 0.11 0.11 £

60 D—6 Hits A+Fi& 0.35 0.23 0.18 =1

61 D—6 |hEEIGEHELA 0.33 0.20 0.16 D)

*Eﬁ?lllﬁ'iﬁo)ﬁ‘lllﬁwiﬂllﬁﬂIiiﬂ'lﬁiﬂ,ﬁ%ég_ﬂrf%@&b%‘)f?o [‘%'367';5@
=[F = Y 1] %(ﬂ SV/h) <L ,\;Ki
NO AR EATE 1icm 50cm 1.0m KTz e NEE
62 D—6 |FAEH REFEkG 0.11 0.11 0.11 £ O
63] D—6 |FEEW=a1—4%o2 (KNE) 0.14 0.13 0.12 =) @)
64 D—7 | tEHRERAREFMEA 0.10 0.11 0.10 BEh O
65] D—7 |LEEHERZIHEUIES 0.13 0.10 0.09 BEh O
66] D—7 [/EHEERH#RA 0.18 0.16 0.13 B O
67 D—7 |2)lhiz 0.12 0.10 0.10 BEh O
68 D—7 |ERULEZE400mIESTir 0.11 0.12 0.11 BEh O
69| D—7 |FH#HEEERAO 0.13 0.11 0.11 B O
700 D—7 [EEHEAE 0.24 0.18 0.14 BEh @)
71 D—7 |Yv<IBIFEHTEFE) I 0.14 0.13 0.11 B O
72| D—8 |FEII(FHEHIE) 0.12 0.12 0.12 BEn
73 E—2 |FHEME 0.16 0.16 0.17 £1) O
74 E—2 |E&FGERR 0.12 0.10 0.09 =) O
75| E—3 |B/E]#ig®E 0.24 0.18 0.17 =)
76| E—4 |[BEAREEH 0.09 0.09 0.09 BEh O
77 E—4 [HER /IR /N BEERI 0.14 0.13 0.12 =l O
78 E—5 |FRRALfHE 0.12 0.12 0.11 £1) @)
79 E—5 SEIRAI{T U 0.12 0.11 0.11 BEh O
80] E—6 |—/X#A 0.12 0.11 0.10 Bh O
81 E—6 | EEFFE=FIFET 0.15 0.11 0.09 BEh O
82 E—6  |/NEEHI~ s AH#IA 0.13 0.12 0.10 BEh O
83| E—6_ | KBOEYISUE 0.26 0.17 0.16 Bh
84 E—6 &L EMZAAD) 0.11 0.11 0.12 BEh O
85 E—7 FIRIEIRBIE{A 0.27 0.21 0.17 BEh O
86 E—7 RIPSRXTER 0.14 0.13 0.12 BEh [@)
87 E—7 |ERAREERI 0.09 0.08 0.08 B O
88 E—7 |ERARERHFRME 0.16 0.13 0.12 BEh O
89 F—4 |F/stfhia 0.14 0.15 0.15 BEh
90 F—4 |[HEMXEEL I—EHIGH 0.10 0.09 0.07 £1) O
91 F—4 |HFaEE Attt 2 —HI 0.10 0.10 0.09 BEh O
92 F—5 |EARAHKA(R289/5500m4% LK) 0.12 0.12 0.12 BEn O
93 F—5 ZBARER 0.10 0.09 0.09 BEh O
94 F—5 [RBtE 42—ZRE]l 0.21 0.19 0.17 B
95 F—5 |ZIRAISBRBISTA/0t0 0.12 0.11 0.12 B O
96 F—6 [& EfKith AO 0.12 0.10 0.10 Bh O
97 F—6  [FIEB#UEET FiR 0.14 0.10 0.10 B O
98 F—6 |[E&HF/N\RXEiHE 0.13 0.13 0.11 B O
99| G—1 LEAF (- XEKIR) 0.12 0.12 0.12 £1)
100f G—3 [fEEF LEIHE 0.12 0.11 0.09 =)
101 G—4 |EFKREBEFRIGAT) 0.24 0.17 0.14 £1)
102] G—4 |FEEFHA 0.11 0.09 0.09 =) O
103] G—5 |IBEOEBHCRI—HSTEIEBHE 0.18 0.18 0.16 BEh
104 G—5 UREIFLEEEHERE 0.07 0.08 0.07 BEh O
105 G—6 | XESEEFH 0.09 0.09 0.07 BEh O
106] G—6 [EHTFE 0.10 0.11 0.10 B @)
107 H—3 34 R iz 0.11 0.11 0.11 =) O
108] H—4 |EEECAIILEEES 0.10 0.09 0.09 =)
109] H-—5 |[EfRELEETEGEIIZL) 0.14 0.12 0.11 BEn
110 H—6 | KERFEHDE 0.14 0.12 0.11 BEh
111 1—3 Faoo o (Z) 0.12 0.11 0.11 £1)
112 1—4 BFaEIOVYHRTILAOMME 0.09 0.08 0.09 £1)
113 1—4 BADR (W) 0.07 0.07 0.06 BEh
114 1—4 BAODRXv 7B AO 0.13 0.11 0.11 BEh
115 1—4 IBAEHEBRH S AR R A5 m GKESA) 0.13 0.10 0.09 BEh
116 J—5 |FRELEIHEIF 0.09 0.08 0.07 BEh
117 K—3 BFroRILAOEIES 0.13 0.12 0.11 =)
118 K—3 BFIWITE — - 0.03| 5/26(R&Hh) —
119] K—3 [EHMEfhE — 0.04] 5/26(f5h) —
120 K—3 |XEREHIFFMA 0.12 0.12 0.11 £1)
121 K—4 |ifz= — — 0.16[ 7/21(f&h) —
122 K—4 |ifEE — 0.05] 7/21(BEh) —
O : [REEREFH A IEZEICLPRELTE A : REXRER




